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Fig.20 Derivation of a T-h Unit Hydrograph by S-curve Lagging Method
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M) of i addilen ordinate lsggedby Col. %) (12/4}
§}1] (s} (') i2h 120 UH
{oais} Col.2+  (m'l) ordinxtes
Col. 3 (m/s)
1 2 3 4 5 [ 7
) 0 —_— 0 - o ¥
4 Wl g ""/f’ 20 —_ 25 57
8 80 <1200 T 100 — 100 333
12 130 -T2 100 T~ 230 ¢ 230 76.7
16 CIsp T 230 380 20 360 1200
20 130 380 510 100 410 1367
24 90 510 600 230 170 1233
28 52 600 652 380 172 967
3 27 652 679 510 169 56.3
36 15 679 694 600 94 303
40 5 694 694 652 47 18.7
4 = 0 699 699 679 20 6.7
48 — 699 699 694 5 L7
52 . £79 699 699 0 0
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Example 10:

Ordinates of a 4-h unit hvdrograph are given. Using this derive the ordinates of a 2-h
unit hvdragrapi for the same catchment.

Tmne (h) 0
4-h UH Ordinate 0
{m*/s)

4

20 80

8 12
130

la 20
150

24
30 90 52

28 32

27

36 40 44
15 5 0

Solution: In this problem ,the time interval of a given unit hydrograph
should be at
4hr-UH are required ,thus a plot

least of T ,i.e.,2hrs .

Some interpolated values of
or linear interpolation are

accepted.

Time Ordinate S-carve S-carve S-curve (Col. (4} 2-hUH

(h) of 4-h addition ordinate  lagged by ~Cal. (5)) ordinates

UH (m'/s) (Col. (2} + 2h DRH of Col. (6)
(m*is) 39 (ms) " (2i4)
[-I) =0S8em (mfs)

1 2 3 4 5 6 7

a 0vc-mnene — 0 — 0 0

2 T N — _8 0 8 16

4. 20 -2 & 27 20 8 12 24

6 4 af//,' 51 20 31 62

8 1 TR 204 .~ 100 51 49 98

10 110 51% " 161 100 61 122

12 130 *10074 . ¢ 230 161 69 138

14 146 161%_~"307 230 77 154

16 150 230 - 380 307 73 146

18 142 307 449 380 69 138

20 130 380 510 449 61 122

22 112 449 561 510 51 102

24 9 510 600 561 39 78

26 70 561 631 600 31 62

28 52 600 652 631 21 42

30 38 631 669 652 17 34

32 27 652 679 669 10 20

34 2007 669 689 679 10 N15 —16 /1
36 500 679 694 689 5 jo (10H0°—»12 3
38 08 689 699 694 5 . {1076 ——-sq?.
10 5y 694 699 699 (0} W3 — ah
4 27 699 701 699 (2) s W0 — 0 o
44 0 699 699 701 -2 (40 —» 0

T 3=1400 @ - ,

—Final adjusted values are given in col. 7.
—Unadjusted values are given in parentheses.
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Example: Derive UH-2hrs. from UH-ghrs. as given below, Using S-curve method {mandatory).
time {hr): 0 4 8 12 | 16 | 20 | 24 | 28 | 32 | 36 | 40 | 44
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0 0 <——(-) 0 - (—) 0
2 § oo (=) 8 0 8 16
4 20 -—+—< 0 20 8 12 24
6 43 - 8 51 20 31 62
8 8. | % 20 100 51 49 98
10 110 = 51 161 100 61 122
12 130 | * 100 230 161 69 138
14 148 i61 307 230 77 154
16 150 230 380 307 73 146
18 142 307 449 380 69 138
20 130 380 510 449 61 122
22 112 449 561 510 51 102
24 90 510 600 561 39 78
26 70 561 631 600 31 62
28 52 600 652 631 21 42
30 38 631 669 652 17 34
32 27 652 679 669 10 20
34 20 669 689 679 10? 20 — @B
36 15 679 694 689 5?2 10 —> 11
38 10 689 699 694 52 10 —> 39
40 5 694 699 699 0? 0 — 4%
42 2 699 (701} 699 2? 4 =20
44 0 699 699 (703? 27 -4 )
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Solveng %fgmpﬁc-m by shortened method .

DR Raga\ M. helaf

Time 41-UH Sy dgig"“”" <5 |DRH=(S4-S) | 20-UH
—~ 0 0
0 8 16
8 12 24
20 31 62
8 80 100 51 49 98
10 110 161 100 61 122
12 130 230 161 69 138
14 146 307 230 77 154
16 150 380 307 73 146
18 142 449 380 69 138
20 130 510 449 61 122
22 112 561 510 51 102
24 90 600 \ 561 39 78
26 70 631 ] 600 31 62
28 52 652 l 631 21 42
30 38 669 T 652 17 34
32 27 679 ) 669 10 20
34 20 | 689 679 10 1 20— ys/’ £
36 T 15 694 689 5 10— 2%
38 10 699 ﬂ 694 5 10—> #9
40 5 699 T 699 0 o— A7
42 2 A— D
44 0 .4—+ 0




Ordinates of @ 4-h wnit hydrograph ave giver, Using this deri

wiit hydrogreph for the same catehment.

Ac"‘lr})’"f\(}i’ta/ % (S )qcr—LE\aro] fﬂé%c’o’)

ve the ordinates of u3-h

. Time

ah-uH

: .:'thydrogra-ph- 1 sp

 DRH=(SASB)

| DRK* M

0

- 6 8.0
= 36 48.0

66

88.0

85

113.3

76

101.3

63

84.0

54

72.0

112

47

62.7

129

4

54.7

49

145

33

44.0

41

159

27

36.0

34

170

23

30.7

27

178

19

25.3

23

186

15

20.0

17

193

10

13.3

13

197

12.0

201

6.7

203

5.3
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